
5RCMP-KIT, 5RCMP-KT2

Opt-X® UltraTM Cable 
Clamp Kit 

Colliers de câble  
Opt-XMR UltraMC

Juego de Abrazadera de 
Cable Opt-XMD UltraMR

	 Instructions:

1.	 Using the cable grommet sizing tool, 	
	 determine the appropriate quantity 	
	 of grommet material to be removed 	
	 to assure a snug fit around the 		
	 cable, then remove only as much 	
	 material as necessary.

2.	 Determine cable grommet mounting 	
	 location placement on incoming 	
	 cable, then mark cable.

3.	 Using #8-32 Pan Head Screws, 		
	 mount the cable clamp bracket to 	
	 Opt-X enclosure. (Figure 1)

4.	 Determine desired cable relief angle. 	
	 Using #10-32 Pan Head screw, 		
	 mount the lower half of the cable 	
	 clamp to the bracket. (Figure 2)

5.	 After termination and routing of 
	 fiber on enclosure tray, place tray in 	
	 enclosure.

6.	 Mount cable grommet as desired on 	
	 incoming cable.

7.	 Place upper half of clamp into lower 	
	 half of clamp. (Figure 3)

8.	 Adjust grommet as needed. Place 	
	 wing nut onto stud, then tighten 	
	 as necessary.

See reverse for associated illustrations. 

Technical Support: 800-824-3005
Customer Service: 800-722-2082

International: 425-486-2222
Fax: 425-483-5270

Web: www.leviton.com PK-93471-10-02-0B

	 Directives :

1.	 Au moyen du calibreur d’anneau 		
	 passe-câble, déterminer l’épaisseur 	
	 à retirer pour assurer un ajustement 	
	 parfait; ne pas trop agrandir l’ouverture.

2.	 Déterminer l’endroit où l’anneau sera 	
	 placé sur le câble, et le marquer.

3.	 Au moyen de vis à tête tronconique 	
	 no 8-32, fixer le support du collier 	
	 sur le logement Opt-X (figure 1).

4.	 Déterminer l’angle requis pour 
	 détendre le câble. Toujours au moyen 	
	 d’une vis à tête tronconique no 		
	 10-32, fixer la partie inférieure du 	
	 collier au support (Figure 2).

5.	 Une fois terminés l’acheminement 	
	 et la terminaison des fibres sur le 	
	 plateau de raccordement, placer ce 	
	 dernier dans le logement.

6.	 Placer l’anneau à l’endroit voulu sur 	
	 le câble entrant.

7.	 Poser la partie supérieure du collier 	
	 sur la partie inférieure (figure 3).

8.	 Ajuster l’anneau au besoin. Poser 	
	 l’écrou à oreilles sur le rivet et serrer 	
	 adéquatement.

Illustrations correspondantes au verso. 

	 Instrucciones:

1.	 Utilice la herramienta para calcular 	
	 el  tamaño de la hembrilla del cable 	
	 para determinar la canti dad de 		
	 material que debe remover para 		
	 que calce apretado alrededor 		
	 del cable. Luego remueva el material 	
	 necesario.

2. 	 Determine el sitio del cable en el cual 	
	 instalará la hembrilla; marque el cable.

3.	 Utilice tornillos planos #8-32 e 		
	 instale la ménsula de la abrazadera 	
	 a la caja Opt-X. (Ilustración 1)

4.	 Determine el ángulo de alivio del 	
	 cable. Utilice tornillos #10-32 e in	
	 stale la mitad inferior de la abrazad	
	 era a la ménsula. (Ilustración 2)

5.	 Luego de conectar e instalar la fibra 	
	 sobre la bandeja, instálela en la caja.

6.	 Instale la hembrilla en el cable in	
	 gresando a la caja.

7.	 Coloque la mitad superior de la 		
	 abrazadera en la parte inferior. 		
	 (Ilustración 3)

8.	 Ajuste la hembrilla. Coloque la 
	 tuerca sobre el perno y ajústela.

Las ilustraciones pertinentes se  
encuentran en el reverse.



PK-93471-10-02-0B

2222 - 222nd Street SE
Bothell, WA 98021, USA
Phone: 425-486-2222
Fax: 425-483-5270

1

2

1. 3.2.

Straight

45˚ Up

45˚ Down


	PK-93471-10-02-0B
	Folding PK-93471-10-02-0B

